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Name: Subtracting Money

Subtract to find the differences. 
Then solve the riddle by matching 
the letters to the blank lines below. 

Why was the broom late?

$11.02 $2.52 $5.60 $0.76 $6.23

$9.01 $0.03 $8.61 $0.61 $0.51 $6.80 $4.94

$9.61 $13.01 $2.42 $1.01 $6.55 $2.65

$18.0 0
-  6.9 8

S$ 6 .0 0
-  4 .9 9

V  $ 5.0 0
-  2.3 5

R

The Late Broom

$ 9.0 0
-  2.7 7

T $ 2.0 0
-  1 .3 9

A $10.0 0
-  0.9 9

B

$12.0 0
-  5 .4 5

E $ 8.0 0
-  1.2 0

S $ 4.0 0
-  3.4 9

U

$ 3.0 0
-  0 .5 8

O

$14.0 0
-  4 .3 9

T

$ 23.0 0
-  9.9 9

T $ 7.0 0
-  4.4 8

W

$ 1.0 0
-  0.2 4

P

$ 6.0 0
-  1.0 6

E

$ 7.0 0
-  1.4 0

E $ 9.0 0
-  8 .9 7

E $20.0 0
-  11.3 9

C
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ANSWER KEY Subtracting Money

Subtract to find the differences. 
Then solve the riddle by matching 
the letters to the blank lines below. 

Why was the broom late?

$11.02 $2.52 $5.60 $0.76 $6.23

$9.01 $0.03 $8.61 $0.61 $0.51 $6.80 $4.94

$9.61 $13.01 $2.42 $1.01 $6.55 $2.65

$18.0 0
-  6.9 8
$11.0 2

S$6.0 0
-  4 .9 9
$1.0 1

V  $ 5.0 0
-  2.3 5
$2.6 5

R

The Late Broom

$ 9.0 0
-  2.7 7
$6.2 3

T $ 2.0 0
-  1 .3 9
$ 0.6 1

A $10.0 0
-  0.9 9
$9.0 1

B

$12.0 0
-  5 .4 5
$6 .5 5

E $ 8.0 0
-  1.2 0
$6.8 0

S $ 4.0 0
-  3.4 9
$0.5 1

U

$ 3.0 0
-  0 .5 8
$2.4 2

O

$14.0 0
-  4 .3 9
$9.6 1

T

$ 23.0 0
-  9.9 9

$13.0 1

T $ 7.0 0
-  4.4 8
$2.5 2

W

$ 1.0 0
-  0.2 4
$0.7 6

P

$ 6.0 0
-  1.0 6
$4.9 4

E

$ 7.0 0
-  1.4 0
$5.6 0

E $ 9.0 0
-  8.9 7
$ 0.0 3

E $20.0 0
-  11.3 9

$ 8.6 1
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